
Angle Grinder
---- | 0 601 337 139

Table of Content

Spare parts list........................................................................................................................................................................................... 2

Illustration - Type........................................................................................................................................................................................4

Subject to technical alterations. No liability is accepted for printing errors |13 October
2023

Robert Bosch Power Tools GmbH
Max-Lang-Strasse 40-46
DE-70771 Leinfelden-Echterdingen
https://www.boschtoolservice.com



Angle Grinder | ---- | 0 601 337 139 2

Spare parts list

Item Part Number Description Illustration Price Quantity Price Group

2/30 1 904 478 007 Receptacle        B2,8-1DIN46 247BZ-BD 1 - 2

4 2 607 200 674 Switch 1 $14.58 * 1 26

5 1 614 460 010 Power supply cord        USA/CAN/SMA  2,15m 2
x 0,82mm SJ 16/2

1 - 1

6 2 600 703 013 Grommet        Ø7,6-Ø8,2x95 MM 1 $1.32 * 1 11

7 2 601 035 001 Cable Clip 1 $1.32 * 1 11

9 1 601 110 200 Manufacturer's nameplate 1 - 1

12 1 606 610 112 Fan 1 - 1

17 1 605 805 054 Bearing Flange 1 - 1

18 2 601 328 045 Cover Disc 1 $1.60 * 1 12

19 1 600 140 009 Adaptor plate 1 - 1

20 1 600 026 000 Intermediate Piece        BLUE 1 - 1

22 2 602 319 005 Adjusting Slide        BLUE 1 $1.32 * 1 11

23 1 602 026 052 Switch Handle 1 - 1

24 1 600 A00 3G4 Brush Holder 1 - 2

26 1 600 502 020 Rubber Bushing 1 $1.32 * 1 11

27 1 600 206 021 Intermediate Ring 1 - 1

30 1 600 101 022 Shim washer        0,8 MM        THICK 1 - 1

31 2 916 660 013 Retaining clip        DIN 472-32x1,2 MM 1 $1.32 * 1 11

32 1 603 523 086 Grinding Spindle        M14 1 - 1

35 2 600 136 002 Shim        0,1 MM 1 - 1

35 2 600 136 003 Shim        0,2 MM 1 - 1

37 1 600 290 012 Rotary shaft lip seal 1 - 1

39 1 604 652 013 Spiral Spring 1 $1.32 * 2 11

40 2 600 910 001 Needle-Roller Bearing        Ø14 MM 1 $2.36 * 1 14

45 1 900 905 007 groove ball bearing        609-ZY DIN 625 1 - 1

46 2 600 905 032 Ball Bearing        7x19x6 1 $3.03 * 1 15

47 1 600 905 006 groove ball bearing        12x32x10 1 $11.62 * 1 24

50 1 613 300 008 Hex Nut        DIN 936-M8x1-8 1 $1.32 * 1 11

51 2 910 601 022 Tapping Screw        BZ 3,9x25 DIN 7972 1 - 1

52 2 910 211 019 Tapping Screw        DIN 7971-ST3,9x16-F 1 $0.80 * 2 10

53 2 910 211 005 Tapping Screw        DIN 7971-ST2,9x9,5-F 1 - 4

54 2 910 771 126 Countersunk-Head Screw        M 4x16 DIN
963-5.8

1 - 4

56 2 910 211 007 Tapping Screw        DIN 7971-BZ2,9x16 1 $0.80 * 3 10

57 2 603 410 001 Socket head cap screw        M3x6,5-4.8 1 $1.32 * 4 11

* Prices shown are suggested retail prices

Subject to technical alterations. No liability is accepted for printing errors |13 October
2023

Robert Bosch Power Tools GmbH
Max-Lang-Strasse 40-46
DE-70771 Leinfelden-Echterdingen
https://www.boschtoolservice.com



Angle Grinder | ---- | 0 601 337 139 3

Spare parts list

Item Part Number Description Illustration Price Quantity Price Group

58 2 910 211 021 Tapping Screw        DIN 7971-ST3,9x22-F 1 $0.80 * 4 10

60 1 600 150 010 Spring Washer        Ø18xØ26,4xØ0,4xØ2,7 MM 1 - 1

62 1 600 119 007 Dummy 1 - 1

65 1 604 611 026 Compression Spring 1 $1.32 * 1 11

66 1 601 110 358 Reference Plate        CAUTION 1 - 1

67 1 601 110 199 Reference Plate 1 - 1

650/1 1 602 025 09Z Auxiliary Handle 1 - 1

650/1 1 602 025 0A1 Auxiliary Handle 1 - 1

650/3 1 607 000 158 Parts Set 1 - 2

652 1 600 A01 36P Protective Cover 1 - 1

652/40 2 910 022 197 Socket head cap screw        DIN 84-M 6x16-8.8 1 - 1

800 1 606 333 204 Bevel Gear        Z=11 1 - 1

802 1 607 014 116 Carbon-Brush Set 1 - 1

803 1 607 000 914 Parts Set 1 - 1

804 1 605 806 402 Gear Housing 1 - 1

805 1 607 000 912 Switch Handle 1 - 1

807 3 600 508 031 Housing Cover 1 - 1

830 1 604 010 224 Armature        115V 1 - 1

888 1 601 11A 3H3 Nameplate 1 $1.60 * 1 12

* Prices shown are suggested retail prices

Subject to technical alterations. No liability is accepted for printing errors |13 October
2023

Robert Bosch Power Tools GmbH
Max-Lang-Strasse 40-46
DE-70771 Leinfelden-Echterdingen
https://www.boschtoolservice.com



Angle Grinder | ---- | 0 601 337 139 4

Illustration - Type - E

Subject to technical alterations. No liability is accepted for printing errors |13 October 2023 Robert Bosch Power Tools GmbH
Max-Lang-Strasse 40-46
DE-70771 Leinfelden-Echterdingen
https://www.boschtoolservice.com


